#1 and #2 Medlum Bolt M8 - 6mm  #3 M6 -3Umm Large Bolt
' (5PCS) iy (6PCS)

#7 Small M6 - 12mm
Screw (9PCS) By

#5 and #8 large M8 - Smm Flat ~#6 Small Bolt and #5 Reflector Stud M3 - 90mm (3PCS)
 Washer (9PCS) Lock Washer (4 pcs) _ .
g - Pre-assembled in Head Assembly




